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OBJECTIVE

NOTE: You have four choices for each objective type questionas A, B, C and D . The choice which

you think is correct , fill that circle in front of that question number. Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero mark in that question.

QUESTION NO. 1

b

Equation ¢ =E.A is applicable to the surface
' {A) Cylindrical  (B) Conical (C) Flat (D) Spherical
During danger the “eel” turns itself into a living battery then the potential difference between its head
and tail can be up to
(A) 160V (By220v (C)440V  (D)6OOV
Electric coefficient is represented by
(AJeo (B)er (C) po Dyur
The ST unit of flux density is
(A) Gauss (B) Tesla (C) weber / meter (D) weber
| The brightness of spot on CRO screen is controlled by
(A)Anode  (B) Cathode (C) Grid (D) plates
A transtormer steps 220 V to 40 V, If the secondary turns are 40 and then primary turns are
(A) 20 (B) 40 (©)120  (D)220

(A) Electric current  (B) Electronic current  (C) Eddy currént * (D) Conventional current
At high frequency, the current through a capacitor of AX€. ciféuit will

(A) Zero (B) Small (C) Large (DYInfinity:

Which of the following waves do not travel atthelspé€d of light

(A) Radio waves  (B) X-rays (C)Soundwaves (D) Heat waves

1 10 | Domains contain nearly

(A)10°to 10°atoms  (B) 102 Q10" atefns  (C) 10°10 10® atoms (D) 10* to 10 atoms
1 | Photovoltaic cell is' formed from

(A) Arsenic (B) Carban (€) Germanium (D) Silicon

| The gain of an invertingmamplifier of external resistances R; = 10 K Q and R;=100KQ is
A) -10 (B) o8 (©) -2 (D) 5

- 13 { The wave-length ofemitted radiation of maximum intensity is inversely proportional to the absolute

temperature, Thisis known as
(A) Fafaday’s [aW  (B) Rayleigh Jean’s law (C) Stefan’s law (D) Wien’s displacement law

14 | Photoelecttic effect shows

(A) Corpuscular nature of light (B) Dual nature of light

(C) Electromagnetic nature of light (D) Wave nature of light

3 | The diameter of an atom is of order of

(A) 10°m B) 10°m (C) 10%m (D) 10™m

6 | The specially designed solid state detector can be used to detect
(A)a-raysonly (B) fB-raysonly  (C)y-raysonly (D) X-rays only
7 | A pair of quark and antiquark makes a

(A) baryon (B) lepton (C) muon (D) meson

The loss of energy over each A.C.cycle magnetization and demagnetization of transformer core is called as ,
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QUESTION NO. 2 Write short answers any Eight (8) questions of the following 16

1 | Showthat: 1 ohm X 1 farad = | second

2 | Define electron volt and show that 1 ev =1.6 x 107 )

3 | State Gauss’s law ,write its formula.

4 | Electric lines of force never cross why ?

S | What is Lorentz force .write its formula,

6 | What is meant by Digital multimeter?

7 | Why the volt meter should have a very high resistance?

8 | Why does the picture on a TV screen become distorted when a magnet is brought near the screen?
9 | What is SI unit of mutual inductance and also define it?

10 | What is difference between D.C. generator and D.C. motor?

11 } Does the induced emf in a circuit depend on the resistance of the circuit? |
12 [ Can a DC motor be turned into DC generator? What changes are required to be done? [

QUESTION NO. 3 Write short answers any Eight (8) questions of the following 16

1 | Write down the names of effects of current for its detection.

2 | What are the difficulties in testing whether the filament of lightened bulb obeys Ohm’s law?

3 | Describe a circuit which will give a continuously varying potential.

4 | At what frequency will an inductor of 1.0 H have a reactance of 500 01 ?

5 | How many times per second will an incandescent lamp reach maximum brilliance when connected
to a 50 Hz source?

6 | Name the device that will: (a) Permit flow of direct current but eppose the flow of allernating
current. (b) Permit flow of alternating current but not the direct current,

7 1 Differentiate between amorphous and polymeric solids.

8 | What are superconductors? Give example.

9 | Define stress and strain, what are their unijts?

10 | What are the uses of Photodiode?

11 | Why charge carriers are not present in depletion region?

12 | How does the motion of an electron in a n-type substance differfrom the motion of holes in a
p-type substance? _ )

QUESTION NO. 4 Write short answers any Six (6) question$ of the following 12

1 | Does the brightness of a beam of light primarily dépends'on the frequency of photon or on the

number of photons?

Why we do not observe a Compton effect with visiBle light?

What is threshold frequency and workefuhiction?

Why does laser usually emit only dne particlar colour of light?

What is meant by a line spectrum? Explain, how line spectrum can be used for the identification of

' elements?

A particle which produces mere ¥ofiization is less penetrating. Why?

Why are heavy nucleituistable?

What will be the chafigelin mass number and charge number during alpha decay?

What are isotopes,? Give an example. |
SECTION-II

Note: Aftempt any¥ Three (3) questions from this section 8x3= 24.
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Q.5.(A) | State and explain Ohm’s law. Also explain the behaviour of ohmic and non-ohmic devices :
- with the help of graph. 5 |

(B) | Determine the electric field at the position # = (41+3])m caused by a point charge
q=5x10"°C placed at origin. ) 3

Q.6.(A) | State Faraday’s law and derive relation for induced emf. : 5
{(B) | Alpha particles ranging in speed from 1000m/s to 2000 m/s enter into a velocity selector

where the electric intensity is 300 Vm™ and the magnetic induction 0.20T. Which particle

will move un-deviated through the field? 3

Q.7.(A) | Explain the principle of Generation transmission and reception of electromagnetic waves. 3§
(B) | A current flowing into the base of transistor is 100 H A . Find its collector current I-.

[P

its emitter current lg if the value of current gain #is 100.
H'Q.S,(A) Write down a note on construction ,working and uses of a Photocell. 5
(B) | A 1.25 cm diameter cylinder is subjected to a load of 2500 kg. Calculate the stress on
bar in mega Pascal . 3
Q.9.(A) | Define and explain Nuclear fission. 5 |
(B) | The wavelength of K x-ray from copperis 1.377 x 10" m What is the energy difference
between the two levels from which this transition results? 3 ’
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